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Mental Ability Test

HIT/ PART I

g9y : 90 A+

Time : 90 Minutes

{Uﬁﬁ:go

Max. Marks : 90

gt & for ST/ Instructions to Candidates
U @ IR 4 9 UEe frefaRed S @ eam 9@ ufew

Read the following instructions carefully before you answer the questions —
RS IFgar qETT Ugel 90 fAWe § 1 Mental Ability Test shall be completed in first

BT | Aegwars St argar oo foran
ST |

AARYE IRgdT USRI B Ul B SR
feu 0 SR e W H T

goH 90 e @1 g W Amie
IRUAT TR BT SR UFG o fordr
SITUATT |

U Al TR, ST fF emud waw uH
7 fear T 2, we fafae (e dfeg o
®ad P 3P) I8 €O W& 6 Py dfea
Raa = w8 o |

TETERT

90 minutes. Scholastic Aptitude Test will
follow it.

Answers of the Mental Ability Test is to be
marked in given OMR sheet.

The Mental Ability Test Answer sheet will be
collected after first 90 Minutes.

Please write your Roll No. as given on your
Admission Card, very clearly (only one digit
in one box). Please see that no box is left
unfilled.

Example :

[3[3]ol1leo4lo]3]2]7]5]

[s]sfof1]efof4afofs]2[1]5]

I QBT T 9EI H 2| AT — oW o
90 U B | UUP UYH UH b BT 2 |
HARAS ARIAr —45 9(1 | 45 TDB)
=Y — 25 939 (46 | 70 TP)
AU — 20 9¥ (71 & 90 D)

UA® U B 9TR STR—UFd § I 4

UvE 9T & 9 fou U fawedt § @
g1 fawea el ST & 3fad & g &t
9fae @ e drer &R T e
FHAT 9 BF TR TR gRT 9 U 1 BT
e g oemff &Y 8fl) afe o<oR
TAd 8F TR g 98, o 99 YaN 9@
fAereR sfiae § &l 3T el R FHhd ¢ |

The test is in two Parts, Part — I consists of
90 questions. Each question carry one mark.
Mental Ability Test — 45 questions (1-45)
Hindi - 25 questions (46-70)
English - 20 questions (71-90)

One oval of correct Answer should be
darkened by the candidates with HB pencil of
corresponding question of the OMR Sheet
If scanner is unable to read the darkened oval
then all the responsibility lies on the
candidate. If oval is wrongly filled by the
candidate he is free to erase it & darken the
correct oval.

Ale : 39 gRADT H U1 I TR Td %6 FR B forg T M0 9 R dad 7% B HA
% feRad waf go 9 foafiay |

Note — Do not write anything anywhere in the booklet except your Roll Number and Rough Work at
the place meant for it.






U¥1(1-3) / Questions(1-3) F1dw : 7% yem & U Ao A
?,mmwﬁﬁ('?)ﬁwmw?la‘gmwmﬂzﬁ

() § 9 U 2 98 weer R -
Directions : In each question there is

(D). 1,4,10,22, 46, (7)
(1) 48
3) 82

2. 613,25, 51,101, (?)
(1) 201
(3) 203

(). 4,27,16, 125,36, (?)
(1) 243
(3) 341

U¥1(4—6) / Questions(d-6) P : 37 yet ¥ g
R 0% 12 onpg 21 98 77 AR R IR Rigedt
Directions : These questions consist of a number series
given as one of the four alternatives among the four numb

4). 1,4,3, 16, 5,32, 7, 64

(2) 68
(4) 94

(2) 202
(4) 205

(2) 216
(4) 343

T$ 2 R v ug g

a number series with one term missing shown by question
mark(?). This term is one of the altematives among four numbers given under it. That number js —

H o Wt ue gl mm Ny g g
HW U B oRE uT B -

which contains a wrong term. This term is
ers given below. The wrong term is -

(1) 4 25

(3) 32 47
(). 3,10,29, 60, 127, 218, 345

(1) 10 (2) 29

(3) 60 (4) 127
(6).  3,3,9, 18,72, 360,2160

(13 29

(3) 18 (4) 72

6 &Y
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U¥(7—10) / Questions(7-10) f<w : Ul U # IR wg €| TP O 9 N W @
forelY gfte & =1 21 39 1 g &t EfRu -

Directions : Each question consists of four groups. One set is different from the other three in
someway. Find out the different set —

(7). (1) VRQP (2) SONM
(3) FDCB (4) LHGF
(8). (1) BGLQ (2) MRWB
(3) INSX (4) EINR
©). (1)87 (2) 67
(3) 47 417
(10). (1) TN / Television (2) T / Cinema
(3) f$A / Radio (4) 31T / Acting

¥(11—13) / Questions(11-13) fA<wr : f7 yw=t ¥ to aigr 200 1 7€ & R 9§ v ue
< &, 59 ues o ()9 <uier T ? | 9 uT @ B B SR uAS § |

Directions : In the following questions there is a letter series with one term missing shown by (?).
Find this term and encircle its serial. '

(11). OTE, PUF, QVG, RWH, (?)

(1) SYJ () TXJ

(3) SXJ (4) SXI
(12). DEF, HIJ, MNO, (?)

(1) STU (2) RST

(3) RTV (4) SRQ
(13). AYD, BVF, DRH, (?), KGL

(1) FMI (2) GMJ

(3) HLK (4) GLJ

%
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U¥1(14-16) / Questions(14-16) P : yF yos

e g™ ge wemt @ 1E ¥ wew e §

ﬁaﬁmﬁﬁwﬁrzﬁmmﬁmgﬁm

Directions : In each question there are circles. Certain num
according to a particular rule. In each
correct answer to fill in the space mark

H g9 R v €| 99 v /aew Avy
U6 99 & a=<x (7) Rre fRar 77 2 <9

bers are given inside/outside the circles
question one of the circle has a (?) mark inside it. Choose the
ed (?) from the given alternatives.

(14).
7 14 9
4@5 75@35 65@45
9 20 30
N7 )9
(3) 13 4) 15

(15). T 6 6
OO0

2 4 5

(1)49 ()51

(3) 59 (4) 21

8. 4 6 ’
OO0

2 3 9

()8 )9

(3) 10 @) 11
I FF
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YE(17—19) / Questions(17-19) 7w : F=ifea vl # @ 18 seR A0 # o AR
Y § | YAS Yo & A Ay I gR fwedt § 9 ve wdl B @1 faweu g |

Directions : These questions are based on letter series in which some of the letters are missing. The
missing letters are given in the proper sequence in one of the alternatives among the four given under

¢ach question. Find out the correct alternatives for each question.
(17). _b _cba ba b

(1) aabba (2) aabca
(3) acbca (4) cacca
(18). bc_ b ¢ b ccb
(1) cbeb (2) bbeb
(3) cbbe (4) bebe
(19). _pq_mp_rm_qrmp__
‘ (1) mprqr 2) mrrpm
(3) rprmq (4) mrqp

T31(20—22) / Questions(20-22) g9 : avf & =ﬁ @v@ﬁ 49 TP GUS Gl BT AT B AT
oy @uel § Hw fordy w8 2 o R e e @1 urem weell 21 99w @ s
= o (7) B forg SR e ghg |

Directions : Out of nine cells of a square one cell is left blank, and in the rest of cells numbers are
written which follow some rule. Get the rule and find out the proper option for the blank cell (?).

(20). 5 2 (7
8 19 9
12 4 16

(i) 0 21

(3)2 43
(21). 10 8 9

12 | .18 | 15
24 | 8 | @

13 ()16
(3)8 @) 12
TF F
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(22). 3 7 28
5 9 36
8 ?) 48

(6 ) 10

(3)12 (4) 28

9¥(23—24) / Questions(23-24) e : ol & <y U R W omRa yw @ UE
fawed gy | ,

Directions : Find out the correct alternative of the questions based on the Dias figures.

A

3p 6 & AU U8 W P weEr g@nfy ?

The number opposite side the face having the no. 6 will be -
()5 (2)4

()2 @1

"

3P 4 B AT T8 W ST HeEr 8eff ?

The number opposite side the face having the no. 4 will be -
(H3 )5

31 (4)6

e (25). Fr=Tifa o @1 g9 & w9 § uRafda far 9 @) 91 w9 98 86 ?

The following figure is converted to a cube. Its correct shape will be —

999 =/ Question figure
1

| 6

2
3
4

5]

6 F
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IR I3 / Answer figure

) G @)
2 [

3) 2 @ L6
U% (26). TR # 78 &1 AR b B g NIl o Bl fh g8 W A b dedl BT Wig
21" TER # O A= 8, 98 91 9 59 yeR @ g @ ?

Pointing the man in the photograph, Reeta said “He is the brother of my uncle’s daughter.”
How is the man in the photograph related to Reeta ?

(1) 95/ Son (2) HIISTT / Nephew
(3) AT / Uncle (4) TR ¥T8 / Cousin

7% (27). Fifa Soft § 09 fha 7 € 5999 31 U8l 9 € W] 3% 918 H 6 B |
How many 7’s are there in the following sequence which are followed by 6 and preceded by 9?
7897653428972459297647
(1) 2 2)3
(3)4 4)5

U¥(28—29) / Questions(28-29) 3% : Ay 7Y RAwcdl # A < ug &l = BN |

Directions : Find out the missing one from the given alternatives.

(28). 42:20 ::64:(?)

(1) 34 ) 33
(3) 32 (@) 31
(29). 8:28 ::27:(?)
(1) 64 ) 65
(3) 8 (4) 28

we (30). fay Q¢ o A Pyt @ | fhaHr g ?

What will be the number of triangles in the given figure ?

& F
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(1)6 (2)7
(3)8 (4)9

U¥(31—34) / Questions(31-34) 39T : 0 &t 13 WRN § w1 [ W 10 Ry € w1 A
ford w7 S & 99 ARl B wWH 11 ¥ Hoa e fo@r T B, W= I8 S HH 4 8
e p A ™ 1 A o T 8| W™ 1 @ R I S R TEAA] 9§ AT dRd Yo
MY Yol & SR — '

Directions : In the below table column I and Column II are given. In column I below, some words are
given. In column 1, their codes are given but they are not arranged in the same order in which they
are in column I. Study the letters in both the columns and find out the code to the letter given in each
of the following questions.

™ 1/ (Column - I) ™ I/ (Column — II)
BLUSH mbfdk
GRANT wpqvce
STYLE yhvdk
BRAIN qgwpf
CRUST Jjbdpu
LARGE ' yckpq
(31). ‘L’ &7 AiPpfad 3R 8/ Code letter of ‘L is
(Dk (2)d
3y @p
(32). ‘U’ &1 Aidbfad 31&R &/ Code letter of ‘U’ is :
(Hd @)f
(3)b . @®s
(33). ‘G* ®I Aidfad AR &/ Code letter of ‘G is :
Mp ' (2)q
3)c 4)w
6 &
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(34). Y’ BT Wibfad &R B/ Code letter of Y’ is -

(1) 2)d

B3k (4)h
U¥(35—36) / Questions(35-36) < : fr=ifhd ywif ¥ ue @R /v /) & wfafes
Wﬁmmé|mwmawglmmmﬁwmw|

Directions : In the following questions visualize the image of the correct item.

(35).

Mirror
QUALITY g s
(1) YTILAUQ (2) YUALITQ
(3) YTIIAUO @) ONVTLLA
(36). v . Mirror
4{( s

TANN I

(1) (2 @) 4)

U¥(37—-39) / Questions(37-39) w1 : o7 ywi & ¥ wR% F IR—aR R Ry Ty ¥
T W U R ot @ W 8 @raT | 99 R @1 9 s sid AR |

Directions : In each of the following question four figures are given. One of these figures does not fit
the rest of the figures. Find out that correct serial number.

| D) |5

Q] (2) (3) (4)

IF T

NMMSE 16 - MAT P.T.O.



(38).

(39).

11

©

(@

™

(2

(3)

(@)

il

/\

S,

(1)

(2

()

(4)

U¥(40—-42) / Questions(40-42) Frwr : Bl & <1 wyg Ry 7 ¥ | v W yw-Rm Tom
T SR ~ o &1 B ) e o #Y f Ua wA o agaRer fhar mm ¥ 9wR Rt ¥ @
TS o &1 999 BRA1 2 A UEH-RE D BAER A ST o 9 | Tafid 9o R @7
el b ST DI |

Directions : Two sets of the figures are given. One set of question figures and another set is of answer
figures. Question figures are arranged in a sequence. One figure from the answer figures is to be
selected such that it can be placed after the series of question figures. Find the correct serial number
of the selected answer — figure.

(40). w3/ Question Figures

)

<p

:O:

dp

IR T/ Answer Figures

N\

L

{F

:O:

(1)

(2)

(3)

(4)

NMMSE 16 - MAT

% F

P.T.0.



(@1).

(42).

Y13/ Question Figures

12

lo | o] | o |
TR 7/ Answer Figures
o = || =
HENEHEE
(1) 2) (3) (4)
Y-/ Question Figures
e /\ Ne | ef\e | /e

o

IR f=IF / Answer Figures

oo

o /\e

o/\e

o

%

(1)

(2)

(3)

(4)

U¥(43—45) / Questions(43-45) (29 : Ffefad gl # ( ;) & i€ R < T QF anrpforal
H Ho EE 2| 98 gRE Tl R B & Tl ¥ 8 R W e ug @ 21 Ry Ty
fadedl 3 @ 99 @ U & T B |
Directions : In the following questions there is some relationship between the two figures on the left
of (: :) the same relationship exists between the two terms on the right of which one is missing. Find

the missing one from the given alternatives.

NMMSE 16 - MAT

6 FF

P T.0O:



(43). Y- / Question Figures

[¢]

. |

13

AN

SR 1/ Answer Figures

als

(1)

Ol®

NN

(2)

(44). T/ Question Figures

(3)

).

Ll

‘P ?

IR =IF / Answer F igures

‘B

o

O ¥

£\ N

(4)

(1) @ @ @
(45). U3 / Question Figures
@ ® [ ] L ] ?

® A e e ® =

IR o/ Answer Figures
o y
% %
) @ @ @)
@ F

NMMSE 16 - MAT

P.T.O:
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(46). fferaa % @ gg ar -
(1) & T IRy fras P (2) HETRdT Tt = @Y afrg By 2
(3) WA [T A1RT | (4) SF TR TR W B
(7). 'UIRE e o gy &
(1) R® (2) 5%
()@ (@) =
(48). '"HUBTETY g BT Wi fweg grm
(1) EUEHY (2) HUBH-3TE
(3) HUE-+areTd (4) §T + gIeTm
(49). EHE v ¥ 9UNT § —
(1)« (2) ¥
(3) AT (4) &
(50). "OTY URTE T BT WA ALY T B T |G e i ¥ BT seier 27
(1) SumT (2) T7%
OEIECIEZYl (4) arfereraifer
(51). "TGRIBTY wree T a7ef B2—
QERIES (2) Rremr
(3) IRRE (4) @Y
(52). TS Bl HIRMATES FHIBR BIAETT ¥ PHT Bleg forar 27
(1) SrfeTe e (2) FqEER
(3) Tegaer (a) Herge
(53). ' BT ygfua v TET &
(1) Xfa (2) g
(3) femaw (4) HEgAR
&

NMMSE 16 - MAT

P.T.O.



(54).

(55).

(56).

5.

(58).

(59).

(60).

15

s f5d au BT g wU 2Y
(1) + 3 @S+
@ T+7 @ T+
g8 gl A RHR @ Sps o) of1 )7 WEifed v § eRE ® —
(1) FHBRG | (2) BV BRB
(3) TWIEH HR®B (4) a1fErpRoT HRB
fr=faRad & @ waares W <wi aen e 2 -
(1) (2) gz
(3) HiaT (4) e
RS A e @I B, W fogd 7 U | Rea we & vree wgad g —
(1) w1t (2) w
(8) T (4) a1
"gId” Weg T faer gn—
(1) W% (2) &
(3) =i (4) wm
freferiaT 5 | g v @ -
(1) U (2) T
(3) U7 (4) U
qg 9 XM A H LY AdpIea Br aref g —
(1) 28T R ST f=g giar a9 H7 R |
(2) BIeT 48 9T ard BRa o |
(3) g5 # g1 &A1 T M H AH @)

(4) 98 4 g Y@= @ @7 7|

NMMSE 16 - MAT

P.1.0.
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ﬁz’w:—ﬁmﬁ@anawaﬁwm\mmmﬁeswwﬂm—
T3 IER BT AR ARG § 9gd T 2| W 39T e R oenet @ are &)
T B | T TSN R B Gor § e e Tl S1 R @) &) 2
D) VE TN 998 T8 A1 2 fF 98 A B Sed 1 B Rl R R — WX a%
TS UgT B | WAR B THE S AEH B are ff Red) v &) 2R wawr 2
(61). DI WURT IRA H I8 QR 27

(1) fdwra o (2) aToTeY BY
(3) |l BT (4) T3 ggER BT
(62). THM TSR fAurTH Y o o wad wareT Tefid & —
(1) X& fam (2) Stergra foqmT
(3) T fopamr (4) fersTefT favmr
(63). ‘TS e F1 aref Bhm—
(1) ERBRY (2) T3
OEISIE (4) 3rEt Bfa
(64). "ER — ER TP §EB! Ugd B | NWIfbd T DI WS arell g HEerel 2
(1) yeTaTE® foree (2) ¥ A foree
(3) guf famTH (4) rgaRvr forg
(65). 'S~ weg T faam Bhm—
(1) 3rg=Id (2) S=far
(3) @ (4) araT
=1 fafaa g gear weT &A1 66 @ 70 @ SR dfvo— ke
Y IERIAT Fraq B, V-

HIE B, 79 9199 B,
| § IHEG W H7E1, FHB G 8R @ B
SHS — YAs TEfed 9 7], E THD IR oAeT P |
TRl — 21 ggq 9eT a7, ¥ae uas gerad B
AR & ] ARER AR | 37HE HTet Maq B |

5 F1F
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US B e fhem @Y 27
1) HRT (2) feR
3) AR

(66).

ez

(67). 39 YT H 3 BR vw &7 apef & —

(1) g (2) T

(3) g™ (4) g1
(68). UdH GaTa ST & —

(1) S ' () =

(3) e (4) arre

(69). '#%‘T—H%"“rﬁs?ﬁaa‘\’ﬁl' ufde o Ygifea wee & —
(1) | (2) Fd=m
(3) foma (a) farhegor

(70). “wERY" wWwE P oawef B —

(1) TR AR (2) =t
(3) TR =W (4) =R =gV

Q. No. 71-74 -Read the following passage and answer the questions given below:-
Beni Ram found Gannu sitting close to her mother's body. Her leathery face was stained with
tears. Beni Ram walked up to her slowly, not wanting to scare her. Then he stopped and held
out a hand.

"Aa, aa......... come" he whispered. :

The baby elephant looked at him and then turned away. So Beni Ram quietly went °
home. The next morning, he returned. Now Gannu's head was resting close to her mother's
still body. She was looking at her mother out of the corner of her eyes. Beni Ram had brought
bananas from his orchard. He held one out to Gannu, but she ignored him.

Beni Ram had no luck with Gannu for two whole days. Each day when he came to
collect firewood from the forest, he offered her food. But she wouldn’t look at him. Then, on
the third day, she raised her head and sniffed his hand with her trunk. Beni Ram felt her soft
breath blowing on his palm.

Slowly she got up and followed him. She turned one last time to look at her mother, as
if to say good bye.

I &1
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(71).  Gannu was a -

(1) baby cow (2) baby dog

(3) baby elephant (4) baby sheep
(72).  Which fruit had Beni Ram brought from his orchard?

(1) bananas (2) guavas

(3) apples (4) pomegranates

(73).  Beni Ram came to the forest each day to collect -
(1) Fruits (2) Vegetables
(3) Firewood (4) leaves

(74). Gannu's leathery face was stained with tears because -

(1) She was ill (2) Her mother had died
(3) her brother was lost (4) None of the above

Q.75 - 76 Choose the correct articles for the blanks:

(75).  There was only one thing that made king angry.
(Da (2) an
(3) the (4) None

(76).  Suddenly, there was loud sound.
1)a (2) an
(3) the (4) None

Q.77-78. Choase the correct prepositions for the blanks -

(77).  Without waiting the kings reply, he flew off.
(1) on (2) of
(3) for (4) at
% &

NMMSE 16 - MAT P.1:0:
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(78).  Samiliked _ play with rabbits and squirrels.
(1) at (2) to
(3) for (4) None

Q. 79-80. Choose the correet gender for the given words

(79).  Nephew
(1) niece
(3) mother
(R0).  Prince
(1) tigress
(3) empress

(2) sister
(4) uncle

(2) actress
(4) princess

Q.81-82 Choose the correct plural for the given words -

(81).  Tooth
(1) teeth
(3) teeths

(82). sheep
(1) Sheepes
(3) ship

(2) tooth
(4) tooths

(2) sheeps
(4) sheep

Q.83-84 Choose the opposite for the given words:

(83). Fortunate

(1) disfortunate
(3) infortunate

(2) unfortunate
(4) imfortunate

(84). Pull
(1) push (2) bush
(3) full (4) dull
6 &

NMMSE 16 - MAT
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(85).  Choose the word which is mis spelt
(1) queen (2) wership
(3) benefit (4) village

(86).  Choose the word which is spelt correctly -
(1) Ragular (2) Regular
(3) Reguler (4) Reglur

Q.87-88 Choose the word which have similar meaning -
(87).  wise

(1) clever (2) fool

(3) weak (4) strong
(88). old

(1) modemn (2) ancient

(3) new (4) recent

Q.89-90 Choose the correct answer for a group of words :-
(89). very tasty

(1) sweet (2) delicious

(3) sour (4) salty

(90). A place where horses are kept -

(1) cow shed (2) hole
(3) kennel (4) stable
T

NMMSE 16 - MAT
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Roll No.

NMMSE 16 - SAT

Aol W 9 ART wiaxlR™ oiar — 2016
(e — 8 ¥ Iemaewa i & fow)
NATIONAL MEANS-CUM- MERIT SCHOLARSHIP EXAMINATION - 2016
(For Students Studying in Class — 8)

sHare givgar gET

9T / PART-II

Scholastic Aptitude Test

g9y : 90 fAame

Time : 90 Minutes

quUTieh : 90
Max. Marks : 90

qemiRfal @ forw REEY / Instructions to Candidates
gt @ 9eR 3 @ uga PrefoRaa it @ e @ ufe

Read the following instructions carefully before you answer the questions —
1 3T A TRR, ST fF aue Ud9r g5 1 Please write your Roll No. as given on your

§ frar mor 2 e fafan (v dfew A Admission Card, very clearly (only one digit
Ddd Th IFH) Tg €U T 5 Fg dfed in one box). Please see that no box is left

R 7 38 9| unfilled.
RIS Example :
3(3|o|1]|6|0|4]|0|3|2]|1]|5 3|3|o|1|6|0|4|0|3|2|1]|5

o #Hr — fgefm # 90 weA 2| Ud® wgT 2 Part — II consists of 90 questions. Each
TG AP B =4 question carry one marks.

e fag —35 ¥¥(1 9@ 35 TD) — 35 questions (1-35)
arnfos fas —35 9% (36 A 70 T6) - 35 questions (36-70)
foTd — 20 ¥ (71 | 90 TD) - 20 questions (71-90)

Basic science
Social Science

Mathematics

3 UAd Y¥9 Bl TR SR—UAD 4 sy 3 One oval of correct Answer should be
geq e 3 ame U T fapeat @ darkened by the candidates with HB pencil of
T2 fapen arelt G B gt § T corresponding question of the OMR Sheet

ﬁmammméﬁmm
FAT 7 B R R gRT A I8 A BT
e v goemeff 1 8rft| afe SR
Tod 8 TR geeHl 9, a 99 I
fieTa oifad 8 Wel B gfif HR FHhd B |

le,

If scanner is unable to read the darken oval
then all the responsibility lies on the
candidate. If oval is wrongly filled by the
candidate he is free to erase it & darken the
correct oval.

W:wgﬁamﬁmﬁaw@wma%mmwwmmwmm
% sifoRad w2t @o A fafay |

Note — Do not write anything anywhere in the booklet except your Roll Number and Rough Work at
the place meant for it.



(1) @ =T afy Fe -

Sound waves travel in -

(1) dae s H / only in solid @ vad g ¥ / only in liquid
(3) Padt arg a7 A F @ s@adwd /
Only in air or gases in solid, liquid and gas

(2). AYAT P WRTEAT BT B RGBT & —
Incident angle is equal to reflection angle -
(1) §3a / Always (2) P BT / Occasionally
3) ST H /I special Condition (4) T =&t / Never

(3). TS BT A HEHD B —
Basic unit of speed is -
(1) f&r / afae / Km/minute (2) #er /AT / m/minute
(3) oY /e / Km/hour (4) MR /FPE / misec.

(4). FSEEE 999 &Y uREer s € —
The phenomenon of formation of Rainbow is known as -
(1) WRTaE / Reflection (2) fagmor / Dispersion
(3) faaRd URT@d= / Diffused Reflection (4) gred gRed= / Lateral Inversion

(65). sFd AN D Y B SR P @l A9 § -

The gas released during the preparation of bread is -

(1) SIS/ Nitrogen (2) @1 TS SRS / Carbon di Oxide
(3) AT [/ Oxygen (4) TR/ Chlorine
6 &
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6). ETAS o BT 9Hg qH 2 -
The Calorific value of "CNG" fuel is -
(1) 45,000 fbat ST/ fbam (2) 35,000 fpall ST / foum
45,000 KJ/Kg 35,000 KJ/Kg
(3) 50,000 febetl S&1 / fopum (4) 55,000 f&etl S[@ /BT
50,000 KJ/Kg 55,000 KJ/Kg
(7). ST BT ISTERT B —
Example of non metal is -
(1) ¥R / Sulphur (2) 3MIRA / Iron
(8) W / Zine (4) B / Copper
(8). g H B AT 317 UTAT SATA 27
Which acid is found in Lemon?
(1) fe® TRIS / Acetic Acid (2) fafg®w TR / Citric Acid
(3) sifaiferd TRI® / Oxalic Acid (4) otfee® TRI€ / Lactic Acid
(). frfoReaa 4 @ 5w faem= & gy o™ @1 yae =21 2
Which one of the following solution will not conduct electricity?
(1) 1 @7 9T/ Tap Water (2) :ﬁ?{\?b'f YY / Lemon Juice
(3) aafer aa / Vegetable Oil (4) RR®T / Vinegar
(10). @HT UBH B oAl B 2f0ed 99 B fon walfe Sy ueref @ -
The most suitable material for the preparation of handles of cooking utensils is -
(1) WfefRIM / Polythene (2) A¥E™ / Nylon
3) A / pve (4) dpeEe / Bakelite
I F
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(13).

(14).

(15).

1 B RIER BIAT © —
1 Hertz is equal to -
(1) 1 B+ / fafee (2) 10 7+ / fafe
1 Vibration / Minute 10 Vibrations / Minute
(3) 60 ® T / ffsre (4) 600 TH¥= / fifae /
60 Vibrations / Minute 600 Vibrations / Minute

fhe SHlae 9 aifdre IR AR IWR & fou Feerd B 87
Noise of how much decibels are harmful for our body?
(1) 70 dB (2) 80dB
(3) 50dB (4) 40dB

ftl bl &Ehel UR ST ATel gel bl o7

Force per unit area is called as -

(1) THE / Gravity (2) €T / Friction
) gaaﬂu g / Magnetic Force (4) /@ / Pressure

TSI ERT & arell I0T Sl U He8R & §RT Herdl & —

The disease caused by a protozoan and spread by an insect is -

(1) ST, / Dengue (2) Tiferat / Polio
(3) FIRAT / Maleria (4) TR / Measles
TR $UH T TIF BT —

Choose the correct statement -

(1) o1 3 Bfea & Red 8 € (2) Bif¥rdT Bod & Rera =l B

Chromosomes are located in nucleolus Cell is located in the nucleus
(3) S Tur g7 | Rea g1 & (4) Tad, ST fBreeh @ B 2l 2
Genes are located in the chromosomes Cell membrane surrounds the nucleus
5 F1F
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(16).  BfefpT ERT ST grar & —
Reproduction by budding takes place in -
(1) RIFAREY / Paramecium (2) B8l / Hydra
(3) 3T / Amoeba (4) ¥R / Bacteria

(17). 7P ) B S B fory B &} B9 o gRRARY arawge T8 27

Which one of the following condition is not essential to grow maize?

(1) B9 d9HH / Low Temperature WEIES] / Humidity

(3) @8l / Rain Fall (4) S dumq [/ High Temperature
(18). g I BN B —

Pure water is -

(1) @ / Acidic (2) S / Neutral

(3) @™ / Alkaline (4) =9 9 31$ Y / None of these

(19). RO T BT TG IRG & —
Main factor of communicative diseases is -
(1) @Y / Ant (2) I TR / Dragon Fly
(3) EI'\)F{\W / House Fly (4) BT / Spider

(20). uffiferm A oty Sfes B @ier e @Y —

Who discovered antibiotic named Penicillien -

(1) TSaS SR / Edward Jenner 2) Q’S‘f U¥TX / Louis Pasteur
(3) TeidaTex YAAT / Alexender Flemming (4) dfex e / Water Man

I &
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(21). #oferar fea o | vg9q PRt & ?

Which organ is used for respiration in fishes?

(1) ®¥BE / Lungs (2) T@=1 / Skin

(3) fires / ills (4) var9 YO/ Trachea
(22). oORMT T& STER B WE SE § -

By products of waste water treatment are -

(1) 9% g FI% / Sludge and Coke (2) B1% T 79 / Coke and Wax

(3) 319% 9 g 1\'Wl/Sludge and Bio Gas (4) TAURT U HT=SY / LPG and CNG
(23). gt B AR BT T fbem ulrerd WTT Wl @ T & —

Approximate percentage of surface area of the earth covered by water is -

(1) 90 % (2) 50 %

(3) 40 % @) 71%
(24). fr=rfoiRea 9 @ &9 91 99 ST /7

Which of the following is a forest product?

(1) BIRE / Kerosine (2) ®1% / Coke

(3) ‘31'['&{3@ / Plywood (4) ﬁ@ A9 / Bitumen
(25). gedT W1 HE 9T PEATET B —

The middle part of the earth is called -

(1) @Y / Crust (2) YR / Mantle

(3) oMaR® HIE / Inner Core (4) 9T’T € / Outer Core

6 F1F
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H B S U FT A IS G A B I YE e § —
Name the part of the eye which gives colour to the eyes -

(1) mERT / Inis (2) e / Lens

(3) BT / Comea (4) AT/ Retina

RS Ured ®T SeTER 2 —

Example of parasite plant is -

(1) Trequft / Pitcher Plant (2) 3™ / Mango

(3) T / Banana (4) 3MRASA / Amarbel / Cuscuta

TS foiifl g w1 SemERT § -

Example of unisexual flower is -

(1) 991 / Mustard (2) TME / Rose
(3) fﬁgﬁsn / Pitunia (4) didr / Papaya

(29). UTIRIFAET B BT HH @ B Grelm T & —
The disease caused due to the deficiency of the thyroxin hormone is - i
(1) ﬁ?{\;'c‘ﬂq / Rickets (2) T@dT / Scurvy
(3) TAER / Goiter (4) Sifteferar / Hamophilia

(30). = o & fored arer fodes @ 27
Which one of the following shows the characteristics of external fertilization?
(1) 999/ Man ) Hew / Frog
3) Tﬁ / Hen (4) @ / Cow

I F
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(31). weg # forr ferfvor @ uftear & g @1 FEfor gar & -
In sex determination Girl child in human being develops from -
(1) T (X)TOREF ¥/ One (X) chromosome (2) U (Y) ORI ¥ / One (Y) chromosome
(3) BT (Y)TURIA ¥/ Two (Y) chromosomes(4) &1 (X)TORIH A /Two (X) chromosomes

(32). UIGY BT SNE HIT Bl ® —
Reproductive part of plant is -
(1) gof / Leaf (2) T 1 / Stem
(3) 91 / Root (4) q51 / Flower

(33). ot amg avf @ iRl @1 & ToRi” ®ET ST 87
Which age group of adults is known as "Teen Agers"?
(1) 11—13 @ / 11-13 Years (2) 10-25 ¥ / 10-25 Years
(3) 13—19 @ / 13-19 Years (4) 16—25 9§ / 16-25 Years

(34). weRf g Uy ¥ SuRud e YRR # Ul SiH drell Sfiar] 8 —
Which bacteria is found in root nodules of shown Legume Plant -

& f“'v--wf . — - P s
W Y o S o
o~ . ,"::1{ = mm; O s A et
<

(1) ATEEAMIMT / Nitrosomonas (2) gSfeT™ / Rhizobium
(3) Tuleiddey / Azatobactor (4) FATIETH / Chlostridium

6 F1
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(35). A HER uReeAr B HRU B —
The phenomenon of marble cancer is due to -
(1) o/ auf / Acid Rain (2) BT / Tog
(3) WMTHHT/ CFCs (4) Freifeg wor / Suspended Particles

36). fr=faRaa & | s S ger 2 -
Which of the following is an organic element
(1) UeR / Stone (2) 9l / Water
(3) ¥SElT/ Fish @) e/ Soil

(37). HH@T vdaq 59 mERrR § Reg @ -
‘Mauna Kea’ Mountain is situated in which ocean -
(1) TeId HEMNTR / Pacific Ocean (2) 3rceife®d HETHNR / Atlantic Ocean
(3) &< I8RIFR / Indian Ocean (4) AMHEH TERITR / Arctic Ocean

(38). 99 & gaw B feem qa aren I3 T & —
Which instrument shows direction of wind among these -

(1) ﬁ“‘w / Wind wane (2) TIHHER / Anemometer
(3) A9ATYY / Thermometer 4) mgmamﬁ‘r/ Barometer

(39). DN TP &F AU Bre (BIor) Fa Rerg & —
Where is Central Arid Zone Research Institute (CAZRI) is situated at -
¢)) / Jaipur (2) 8999 / Udaipur
3) / Ajmer 4 Gﬁag?/ Jodhpur

(40). b HEA # 30 Ut RT3 9Tt @9 PEad & —

The forests shed their leaves in dry season are called -

(1) 9T g9/ Rain Forest (2) |GTAT 94 / Savana Forest
O ESESIEGE] / Deciduous Forest (4) A<STd8R 99 / Evergreen Forest
6 &
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(41). X TS ggION UG TINT <7 BT HeE fhad © -
Sundar Lal Bahuguna and Gaura Devi are related to -
(1) SfOPT oMEIe / Appiko Movement  (2) fau®! aTeled / Chipko Movement
(3) WIS aTele™ / Khejdli Movement (4) quaﬁ 7 | PBIg 8T/ None of the above
(42). Rig 7 IRa > FE I @ FHER TR B -
The Sindu River flows through which state of India -
(1) 57 =% YHR / Jammu — Kashmir (2) ITSTRATH / Rajasthan
(3) R4 / Haryana (4) fd8R / Bihar
@3). Fr=fafaa 4 9 o S @1 gt -
Identify the wrong group - :
(1) MRT — T/ India - Jhuming (2) AfFE®T — AT/ Mexico - Milpa
(3) dTSild — BT/ Brazil - Roka (4) 7ARMT — =T/ Malaysia - Chena
(44). 3R udd fea woa o Rerd g —
The Arawali Mountain is situated in which state -
(1) TEI9eeT / Madhya Pradesh (2) ISTRA / Rajasthan
(3) afA 11§,/ Tamilnadu (4) 98RT&; / Maharashtra
(45). ORI, RT B fHg v d Rea 8 -
Rajasthan is situated in which part of India —
(1) Ef89T / South 2) W—CEf/ North - East
(3) STR — Gf¥FH / North - West (4) SR / South - East
46). ‘ST ufY @ Hag fFE AN W 8 -
‘Bad Land Topography” is related to which river -
(1) ¥dc1 / Chambal (2) 919 / Banas
(3) AT/ Luni (4) {181/ Mahi
I w1
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47). =i 9 @ B te urefiie wied e & —

Which is a natural tourism place among the following -

(1) DITIT / Kolayat (2) R¥HIF / Deshnok

3) Eﬁaaléa/ Kevladeo (4) 891981 / Hawamahal
(48). ﬁmaﬁzﬁﬁm%ﬁﬁaﬁwmﬁa@q—

What is the age required to become MLA -

(1) 30 T / 30 Years (2) 45 T9 / 45 Years

(3) 25 T4 / 25 Years (4) 18 99 / 18 Years
(49). FHIST T F afufra @ —

Which of the following is included in concurrent list -

(1) gﬁf\“{/ Police () DR/ Agriculture

(3) 9% / Bank (4) 99 / Forest
(50). Y B FINE qRaAT B B & —

Who is the constitutional head of the State -

(1) IrSTUTe / Governor (2) =9/ Chief Minister

(3) TIT9HT/ Prime Minister (4) IgUfT / President
S51). & <o Y due A ket @) arier waite & —

Highest women’s participation in parliament is in -

(1) MRT / India (2) & / Sweden

(3) T / China (4) 3v8 / England
(52). fFr=feiad 4 @ Bivw 9w ardfam FTERE 8 -

Which is a means of oral conversation -

(1) TAfTH / Film (2) &N / Radio

(3) SAfae= / Television (4) B9 / Phone

6 &
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(53). VISR Y e AfRe s B o+ —

Who is the first female MLA of Rajasthan -
(1) @GERT X6/ Vasundhara Raje (2) =T T/ Soniya Gandhi

(3) TEII<T T4/ Yashoda Devi (4) 9§ hH 91/ Meena Kumari
(54). T8 R Wi @Y fawiwen TE E -
Which is not a characteristic of Indian Constitution -
(1) farRad / Written (2) 3R/ Rigid
(3) fAeTel / Huge ©)) fafifa / Constructed
(55). Prfafeg § @ B $ WG YR 2 -
Which of the following is an Union Territory -
(1) fSTRA / Mizoram 2) et/ Delhi
(3) U / Punjab (4) STAYR /' Jaipur
(56). AHE ¥ FA fFa Few Bd € —
How many members are there in Lok Sabha -
(1) 545 (2) 645
(3) 445 (4) 200
(57). ma@zmmmwﬁ%mﬁmmwé—
The article which cannot be used to impose emergency -
(1) 352 (2) 356
(3) 345 (4) 360
(58). AT—ard 1 Il T BEela 8 —
Accounting of income and expenditure is called -
(1) 957€ / Budget (2) a&eF / Management
3) Wgﬁﬂ?—ﬂ / Work Book (4) THADT/ Technology
I F
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(539). R B fu Iufy B rager 3 9 way oA @ -
Which Indian President is also known as “Missile Man” -
(1) }TSi7 TNTE / Rajendra Prasad (2) THIS. 3G B/ AP.J. Abdul Kalam
(3) UfeMT 9T / Pratibha Patil (4) 9uTg / Pranab Mukherjee
(60). AE ALY (MR fpg frel § Rerg & —
‘Chand Bavdi (Abhaneri)" is situated in which district -
(D GﬁUg'\’/ Jodhpur (2) 8FHT TG / Hanumangarh
(3) ®ICT / Kota (4) ST/ Dausa
61). el = qrere 99 &1 o B o7 ?
Tuglak dynasty’s reign on Delhi was during -
(1) 1206 - 1290 (2) 1290 - 1320
(3) 1320 - 1414 (4) 1414 — 1451
62). fr=feiad & & #19 gl dem @ oy @ —
Who is the descendant of Prithvi Raj Chouhan among the following -
(1) R <9/ Hammir Dev (2) ‘:IEWTUTT UdI9 / Maharana Pratap
3) RIErsi / Shivaji (4) WMESTET / Shahjahan
(63). AT B PITAI IS BT T AIigey BT HETH WRETPH AT —
Which king of Mewar was a great protector of art and literature -
(1) HEIRTT GEZHQ?'E/ Maharana Udai Singh
(2) YT &TTEIT / Rana Lakha
(3) XU |1/ Rana Sanga
(4) }TUTT 9T/ Rana Kumbha
(64). HERIUM YT BT ST Bl garT o ?
. Where Maharana Pratap was bomn -
(1) 8&99X / Udaipur 2 %?ﬁ@ﬂ?;’/ Chittorgarh
(3) BITTE / Kumbhalgarh (4) IFIET / Gogunda
I F
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65). AR e Pt e 8 -

‘Sonargarh’ Fort is situated in -

(1 GﬂHﬂ'\’/ Jodhpur (2) SR / Jaisalmer

(3) S&IYR/ Udaipur (4) ARAYR / Bharatpur
(66). INTog B g A gs ol -

Aurangzeb died in -

(1) 1707 3./ 1707 A.D. (2) 1520 §./ 1520 A.D.

(3) 1947 E./ 1947 A.D. (4) 1656 E./ 1656 A.D.

(67). TSAT BT FaA AT B —
Who is the ‘Kuldevi’ of Aouva -
(1) AT/ Durga Mata (2) BT AT/ Kali Mata
3) W HTaT/ Sugali Mata (4) &1 ATAT/ Laxmi Mata

(68). ‘TEl |AT &1 e fpee faar —
‘Brahma Sabha’ was framed by -
(1) H8TeHT e/ Mahatma Gandhi
(2) fJd®T=E / Vivekanand
(3) THWT TRHEY / Ram Krishna Paramhans
(4) TSTT ¥H HIEA 4/ Raja Ram Mohan Rai

(69). ‘TTET ARRA Tg Wel HUT HEl R & —
“Tata Iron and Steel Company” is sitvated at -
(1) f&e=il/ Delhi @) '\T‘I":I'W / Jamshedpur
3) e / Bhilai ©) BRI/ Bokaro

I &
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(70). 9 fO¥9 gg 9 % =am —
First World war started in -
(1) 1914 8./ 1914 A.D. (2) 1905 E./ 1905 A.D.
(3) 1935 3./ 1935 A.D, (4) 1947 3./ 1947 A.D.

(71). 8 X (-3)+ 10 HF BNT—
Value of 8 X (-3) +10 is equal to-
(1) 15 (2) 14
(3)-14 (4) 34

(7). 2% g fire 2

: ; 3
Equivalent fraction of = 1s -

18 6
50 15
3) 100 ) T

(73). 8.4,7.6 3R 9.2 &1 3T 719 BNT —

Average of 8.4, 7.6 and 9.2 is -
(1) 8.4 (2) 4.8
3)9.2 ) 7.6

(74). T 4x-3=33 &1 x BT O BN —
If 4 x-3=33 then value of x is -

(1) 12 (2) 32
(3)9 4)7.5
% FE
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(75). 50T 50% T HIF BN —
50% of 50 is equal to -
(1)25 (2) 50
(3)75 (4) 100

(76). A T RE A x° @AM BT - A

Value of x° in given figure is -

(1) 45 (2) 60°
(3) 180° (4) 30°

(7). <y 3 8000 ® H A wET TR IH dF BN 20% A AN | A8 @1 e gou

Ravi buy a T.V. for Rs. 8000 and sell it at profit of 20%, selling price of T.V 1s -
(1) Rs. 8020 (2) Rs. 9600
(3) Rs. 10000 (4) Rs. 7600

(78). (5°x5%)+5° 1 W BT —
Value of (5°x5%)+5" is-

(1)5' 2):s"
(3) 5 @) 5°
6 HRT
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(79). Tt a7 &1 uRem 100 Hew @ | SFDT EFAFe BN —

Perimeter of a square is 100 meter than area of that square is -
(1) 100 He=” (m?) (2) 10000 T (m?)
(3) 400 2R’ (m?) (4) 625 X’ (m?)

(80). 4%+3% B HH BRI —

Sum of 41+3l is equal to -
2 4

3 2
1) 7= -
T 3=
3 1
B B o

@l). R r+losaraqr x‘+—17?5T H BRIT —
X X

1 1.
If x+—=5than the value of x* +— is -
% %

(127 (2) 20
(3) 23 4) 25

(82). wmwmﬁaﬁa{qﬁqmm@w?ﬁmm—

An angle which is equal 1o its complement is -

(1) 90° (2) 60°
(3) 180° (4) 45°
6 FrT
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% FIER & BT EAGH 2304 m* ¥ | TH &§F PV SN B g BT -

Area of a square shape field is 2304 m? than the length of side is -
(1) 576 {12 (m) (2) 48 HIER (m)
(3) 90 HIeX (m) (4) 240 HIEX (m)

(84). 840 & Sifpe G AEN UH W 714 T A A Y| g wfowra g -
A shirt of marked price Rs. 840 is sell at cost Rs. 714. Percentage of discount is -
(1) 14% (2) 15%
(3) 126% (4) 40%
@85). x1-5x+6D UM TUS & —
Factor of x2-5x+6 are -
(1) (x-1) (x-6) (2) (x-3) (x+2)
(3) (x-2)(x-3) (@) (x+1) (x+6)
(86). 3'-4> HT WIH BN —
3*-4% is equal to -
(D1 @7
(3) 145 4 17
87). T GEERS B &FFA 48 T § | gg@r Uh et 12 9 &1 TR Rt B
awarg Bhf —
Area of a rhombus is 48 cm?. One of its diagonals is 12 cm. Length of another diagonal is
()43 (em) (2) 12 Y (cm)
(3) 8 9T (cm) (4) 6 THT (cm)
T
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(88). %aﬂuﬁw wiferet & —

Additive inverse of % is -

15 15
1) — 2) ——
(1 - (2) 7
7 7
3) —— i pi
(3) T Q) 7
(89). 1smwmﬁ4ea%ﬁwmélwmaﬁzowriqﬂm$
forT fbem sifirat @Y amawgear e —
15 labour can complete a job in 48 hours how many labour required to complete job in 20
hours.
15%20
1) 15x48x20 2
(1) | e
48x15 48x20
3 4
3) 20 4) 15

(90). (2000)° BT HF & —

~ Value of (2000)° is -
o (2) 200
(3)2000 4) 1
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